— NS _— ~ <#fmA
. “IRCE PA :)L,:“-—; \—<Za—F>> ( [N-W6/W3]+-2018 £F 09 A 02 B
MERFRS A7 - -HE [N-W6/W3] BEZE =1/99.9 ~ 69.9 (1/50.0 ~ 35.0) FEZE =400% FEHHR =)L /30/70 @ HEEk =4818&3858&12

MR R AR - - 2L
WE R AT — - - 418
B{RFRE{E - BT — i
W50 5D
| FINUEEEr /B
WEHE-HTS

[N-W6,/W3] (12 {8 /9C)

- 3R---297 {@
+ 5R:--495 {H
“10R- - -990 {&

i
1/ 999

1/ 545 1/ 475 D 1/ 888 1/ 445

1/ 898 1/ 445 @ | 1/ 698 1/ 345
14848 1/ 428

14795 1/ 395

@@ 8| @82

1/ 695

WiEER O ER
< R A—F A M >

[E#ESaL—2a))

<sSEFREEM= & E>
KOMFIE, HRMERLET, (BE IN-We/W3))

OZFIAE, [EAMER] CRYES, [BEAEM] TOEREECET, Presented by TKC (HRSH b1« )0 - afdiagrX)




